Subject: clust_wts
Posted by davis anderton on Thu, 17 May 2001 17:52:23 GMT

View Forum Message <> Reply to Message

I've been having problems with the clust_wts function. When | use the
following commands for the array

(named rate) given below, | always end up with the data all in one
cluster when I'd like three clusters. The cw array has all the same
values, so it is using the same cluster centers for each cluster. Am |
missing something or is there really only one identifiable cluster?

cw=clust_wts(rate,n_cluster=3)
cl=cluster(rate,cw,n_cluster=3)
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